FIEERAR—Y RBELFEEHARFESR F TH=
2024478138 (£) [1HH]

AR %5
=
No.| BEkBEM | @B we |sovr| SRR EEE =
1 9:30 DA 800m SRES | 2#8TR 9:10 9:15
2| 940 | pEEE 800m sps | 4%8TR 1’“22; ggg 84218
3 10:05 DA 300m SREE | 248TR 9:45 9:50
4 10:15 Bl % 300m SRS 9:55 10:00
. . 1~3#| 10:00 10:05
5 10:20 HEA 300m RS | 58TR i~oml 1010 T
6 10:40 55 300m SREE | 248TR 10:20 10:25
7 10:55 L& B 100m FE | 3-2+2 10:35 10:40
8 11.05 DA 100m F® | 3-2+2 10:45 10:50
1~3#1| 10:55 11:00
9 11:15 LEB 100m FZ | 8-0+8 4~6%8| 11:.05 11:10
7~848| 11:15 11:20
1~3#| 11:25 11:30
10| 1145 DB A 100m ¥# | 10-0+8 | 4~6#| 11:35 11:40
7~1048| 11:45 11:50
11 12:25 DA 300mH SRES | 248TR 12:05 12:10
12 12:40 DB A 300mH RES | 2#8TR 12:20 12:25
13| 1310 L& B 100m RS 12:50 12:55
14| 1315 DA 100m SRS 12:55 13:00
15| 13:30 L& B 100mYH RBE 13:10 13:15
16| 1340 DA 100mH SRS 13:20 13:25
17| 1350 HLEBEB 110mJH RBE 13:30 13:35
18| 1410 LEB 100m SRS 13:50 13:55
19| 1415 DB A 100m RBE 1355 14:00
b
No.| BEtaESZ | BRI B8 Sk | s %Eﬁgﬁﬁ% e
1 10:00 DEBEHE ES REE | AV—Y 9:10 9:20
2 10:00 LHEAB ES B REE | AV—Y 9:10 9:20
3 10:00 e oE=ts = BBk BB | A1 VAB 9:10 9:20
4 13:00 DA R = ER Bk REE | A4 VA 12:10 12:20
5 13:00 LR L = Rk REE | A1 B 12:10 12:20
6 13:30 DA HE ESB REE | AV—Y 12:40 12:50
7 13:30 LERAK ES B REE | AV—Y 12:40 12:50
BTEHBER
No.| BEmaEs | @B ®E ok | s Eggﬁ (ﬁimiéﬁ%?
1 10:00 MHEA AU (60kg) | REE | BTEE 9:30 9:40
2 10:00 SR BE | AUv-1E (6.0kg) | REE | BTES 9:30 9:40
3 10:00 S8R EA L [N (40ke) | RES | BTEB 9:30 9:40
4 12:00 HEB | [ (15kg) | REE | BTEH 11:10 11:20
5 12:00 0L R MMk (1.75ke) | R | BTxS 11:10 11:20
6 14:30 HbEB | AR (10kg) | REE | BTEH 13:40 13:50
7 14:30 ik ak |AEE (1.0ke) | R | BTxis 13:40 13:50




BIBEERAR—YREELFEEHRE T RS K

Bl e

2024478148 (H) [2HH]

AN 55
_ BERY
No.| %% 4 | YR #
0. FEFRFHLA Eh EB Sy HE R mE=T
1 9:30 LR X 1500m R 2#TR 9:10 9:15
1~248 9:30 9:35
- . 3~4%8 9:45 9:50
. =0 45 AN 3 4
2 9:50 e R 1500m SN TH#TR 5—6%] 10.00 005
7#| 10:15 10:20
3 10:50 LEaL 800m R 2#ATR 10:30 10:35
4 11:00 LE=B 800m N 3FTR 10:40 10:45
- N 1~3# 11:00 11:05
: al ¥ & 7 K
5 11:20 ERE > =Y 100m R hb#ETR 455 11.10 115
1~3# 11:20 11:25
- . 4~64%8 11:30 11:35
6 11:40 ERE S e 100m s 1348TR T Zo%| 1140 145
10~1348| 11:60 11:55
7 12:30 ElaE - a8 100mYH RS 12:10 12:15
8 12:40 L 100mH N 12:20 12:25
9 12:50 et 110mdJH R 12:30 12:35
10 13:00 LEE3B 110mH N 2#8TR 12:40 12:45
- N 1~3# 13:.00 13:05
: al I = 7 K
11 13:20 Eof =4 200m SN 6#TR 4~6%8| 1310 315
1~3# 13:20 13:25
- - 4~06%8| 13:30 13:35
: AC ) /ﬁ\ 7 p
12 13:40 ERE s ] 200m SN 1348TR 7 <o%| 1340 1345
10~13#8] 13:50 1355 | +—o—mm
13| 1430 | z=&zam 300mH SR 14:10 14:15 1R
14 15:45 e L 4X100mR R 2#TR 15:25 15:30 14:30
15 16:00 ZHesRB 4X100mR R 3#TR 15:40 15:45 14:45
X UL—F— 54—, RIS | MORET T HK | BEAE CIoT | CIRmY 5o &,
Bk B
s _ BERZ
N ) N = 7l I . Frey =
o.| BAAREZ 5 pey=| FUUN | BRI EEEL mE=T
1 9:30 DA @ FEIE Bk kis | A4 VAB 8:40 8:50
2 10:30 PDEA BES Bk s | AV—2 8:50 9:00
3 10:30 Bl e ES Bk s | AV—V 8:50 9:00
4 12:00 PEB FE TRk kRS | A1 VAB 11:10 11:20
5 14:00 LRk % BEk REE | AV—Y 12:20 12:30
6 14:00 PDEA FE TRk kRS | A4 VAB 13:10 13:20
7 16:00 LB E @Bk REE | A4 A 15:10 15:20
8 16:00 Eafo s FE TRk R | A4 0B 15:10 15:20
BTCEHHE
. _ HBERA
No. =i=3 I N | S
o.| BRTAKEZA Ehl b= IUUN | BRERISET FE mE=T
. N B (60ke) | o o | e - , ,
1 10:00 ks B A4 (5.0Ke) ki | RTEG 9:10 9:20
2 10:00 PDEA Py REE | \TES 9:10 9:20
3 12:00 DA HmAE (40kg) | REF | RTEH 11:10 11:20
_ N B (40ke) | o o | e . _ _
4 12:00 ke w AR (272 ki | RTESG 11:10 11:20
5 12:30 LR Py ks | ®RTES 11:40 11:50
6 14:30 Dz A Py ki | ®TEG 13:40 13:50
7 14:30 LHEa%k Py ks | |TES 13:40 13:50




